02 01 27

G )

3,243 |
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0%(R2)
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R02 |R03 [R04 [ROS5 [RO6

A02-001 L=50m [ I 249
A02-002 L=155m [ I B A B | 1,010 |4.2
-5.5m)
A02-003 L=325m [ I B A B | 310 (4.2
-12.0m)
A02-004 L=920m [ I B A B | 160 |4.2
A02-005 L=1,600m [ I 105
R4
A02-006 L=270m [ I 20
-5.5m)
R4

0000688425




R02 |R03 [R04 [ROS5 [RO6
A02-007 ( L=200m " | . 432
-5.5m)
R4
A02-008 L=2,100m " | m | m | m|m 45
A02-009 L=370m . 80
C )
A02-010 ( V=42,000m3 n 81
-5.5m(C )
R4
A02-011 ( L=130m . 15
-7.5m(C )
R4
A02-012 ( L=400m " | m || m 40
)

2 0000688425




R02 |R03 [R04 [ROS5 [RO6

A02-013 L=170m A EERE 118
-10.0m)(
A02-014 N=1 . 50
)
R4
A02-015 L=100m A EERE 9
-10.0m)(
A02-016 L=270m . 39
(-5-5m)(
R4
A02-017 L=3,650m A EERE 80
C )
A02-018 L=450m . 150
-5.5m(C )
R4

0000688425




R02 |R03 [R04 [ROS5 [RO6

A02-019 L=450m u[nn]n 200
-5.5m(C )
A02-020 L=3,500m u[nn]n 50
)
[ L[] o) |
| 1] o] |
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R0O2 RO3 RO4 RO5 RO6
©) 31 176 60 80 72

() 0 0 0 0 0

(c=a+h) 31 176 60 80 72
(d) 0 31 161 14 28

(©)] 0 46 207 46 39

) 31 161 14 48 61

15 51 14 4 61

(h = ct+d-e-f) 0 0 0 0 0
(i = (g+h)/(c+d)) 48.38 24.63 6.33 4.25 61
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